Gymnasium

1. Stegreifaufgabe aus der Mathematik

Klasse 8

- Losungen -

1 a) 22 Erweiterungsfaktor: 3b
3a-4b
2a-3b _ 6ab
3b-(3a—4b)  9ab-12b’
b) 2x=3 Erweiterungsfaktor: 2x + 3
2x+3
(2x-3)(2x+3) = 4x*-9
(2x+3)(2x+3)  4x*+12x+9
c) v Erweiterungsfaktor: 6w + 7v
7v — 6w
Vv " —v (6w +7V) _ —v(6w+7v)
—Bw+7v  Bw-7v  (Bw-7v)(Bw+7v) 36w’ —49v?
5
2. a) = =x"2=x
X —
by 2 _ X
6yz 3z
42a’bc®  2a
c) T = —
63abc 3c

Xyz Xyz XZ
o) na-nb _ n(@a-b) n
3a-3b 3(a-b) 3
[ A2rs—tds 14s(3r-1) _ 2
21rs?—-7s*  7s*(3r-1) s
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